Motion Control Products

*¥E§£z§ﬁ§iﬂ$ﬁ—5#ﬁ$j&ﬁﬁm| OSMS-ZF F&Rst040/060/0s0mm | RoHS |[ CE |

HAGENI - SHE, TRTUESNESRE Arzas BN EHTES.
EFTrHEFINTEFemR KR E, MBEZEFEE.

NMAR% = s
© R TAERAIR L, HHALNE TFE W, BUN. H., 2
o BRAKTHE.
=2 5 e R N
TR © JLTRAINRER ST, R E T H A A0 .
B
JREE
FHEE
R E
BzxEs N
S BRI
RE OSMS40-5ZF OSMS60-5ZF OSMS60-10ZF OSMS80-20ZF
17%2 (mm) 5 5 10 20
BE AER~T (mm) 40x 40 60X 60 60X 60 80x80
#4T (mm) FKRZIIER 05 S1B1 | FHRZIER 06 5181 | FHRZIIERZ 06 S1B1 | FHLIER+8 5iE2
%;’E?Eﬁ SHE UBISNE4, URISNE3), [OF:LE7 =28 UBISNE4),
iz FE#H e #BE BEE e
- REALE ZaEk ZEaEk ZagEk ZaEk
3R / IREEs BE (kg) 0.35 0.6 0.6 1.6
(%%5) (um/iki) 1.0 2.0 2.0 0.2
— A (%) (pum/ikif) 0.5 1.0 1.0 0.1
F it SEX#EE (mm/sec) 2 4 4 1
o FEEMEE (um) 10 10 10 10
ACE A&EHAES (N) 19.6 (2.0kgf) 39.2 (4.0kgf) 39.2 (4.0kgf) 147 (15.0kgf)
) )3 {540 (“ /N = cm) 2.0 0.4 0.4 0.2
. BRI | m4ERIE 1RIZ ("IN - cm) 2.0 1.0 1.0 1.0
o #2 (“ /N - cm) 1.0 1.0 1.0 1.0
=474 (um) 5 5 5 5
F4TE (um) 50 50 50 50
BEEHELTE (um) 15 15 15 15
w0 ) 25 20 20 25
EmEne MRS ERLE: GP1SO9THCZOF (B (#) ) : 4RFR{I E5R (60-5ZF/60-10ZF)
B AR ERLES: PM-U24 (SUNX (k) ) : 4RBR{I B 55488 (40-5ZF/80-20ZF)
R RIR L B 5 Rk R A () A (BH) A (&) A (B)
S BRafEReE x ¥ ¥ ¥
HE&IEE R EREAERE % x = %
BRI
= L /R A TSR
H=H e StEH M 0.35A/8 .
s £l (ORIENTAL MOTOR (i) ) 5ta4 Bt 0.75A/48 (ORIENTAL MOTOR (#) )
Bl me PK513PA-C21 PK523HPB-C12 PK523HPB-C12 AT177-90215KTG
= (020mm) (028mm) (O028mm) (028mm)
SR 0.72° 0.036°
IR E DC5~24V+10%T
e 30mARLT - 30mART
— s | ERR (A SR 15mA) 40mART (24 EEH20mA) (84 fER B 15mA)
0100mm i i B SR NPN&RBRFHEHH DC30VEIT50mAMT
0120mm BFEHEX LR fH |AEOFF (#Lk)

HE

W IR FRIIRBNRS / IR B S

SG-5MA, SG-55MA, SG-5M, SG-5MA, SG-55M, SG-55MA, SG-55M, SG-55MA,
SG-514MSC SG-514MSC, MC-7514PCL SG-514MSC, MC-7514PCL

GSC-01, GSC-02, SHOT-702, SHOT-302GS, SHOT-304GS, HIT-M - HIT-S, PGC-04

IRZhER
g

RRARL




w9077

SN

E AR RIERE MaX15...4%

OSMS40-5ZF [ mssaiiz maxis...af
40
32 4-M2X0.4 4
20 S—
4-M3X0.5 if4
91 LY "
[l ’% SIS
| > *&
& ©
(5.6) 65 ®

A FEES

44.1

23.5

E s
L e

32

4-93.5RETFL

©6.2T7L

OSMS60-10ZF

) msmimte maxis...at

E3 I ©
© °
;e@é@g, ARR
RN P
N A4 $ <
' 7-M4R6
32 4-M3iR3
50 o
(6) 60 b=
bR
=
[T
T T T T T T I
— " »
O f :
AN © }
i @ g
! gk
50 50 4-45RFETL
O8ILFL

WiEEE

ka5 10
TR () )
RP17-13RA-12SD

— BNS%
— BNSL
— EilS%
— iS4
— BENSL
N.C. (R{EF)
— o Svoc *—1
[— GND (o)
[—Ls (+)

|—Ls (=)
N.C. (1EM)
N.C. (R1EF)

)
AR
oo A
GP1S097HCZOF

(60-52F/60-102F)
=& ()

(40-52F/80-202F)
A ()
RIRG BB
ASRfoN

EEXENMRRAEEREN+TE. LESHTFREEETNERES,
R AL e Rk RS, AR ARPRAL B AR AR R AR T
BAHRSLRIS: T#EBHL () %] RP17-13PA-12PC/RP17-PC-122

WEB http://www.sigma-koki.com/index.php?lang=cn

AIF3E 20

OSMS60-5ZF

2D
CAD

Slm)
CAD

Caa—

e
% ¢
10 0 9f ;3
S e !
e °
f
7-M4 iR6
32 ,,f"
50 4-M3 iR3
6
(6) 60 2
n
S
Iz
O B ;
b ~
©
] I I
| i 2|
50 ! 3
50 4-G45RETL
®8iNFL
OSMS80-20ZF [ Mgt maxis.. 4t
80
26.5
|-26:5
1
o ! o
o 09
<
+@ o S
: <
o é
ol 06O !
25 | 25 4-M4X0.7 8
70 8-M4X0.7 R4
80 (4)
14__16_ 16_ 14 8-M4X0.7 iR5
25 | 25 10-M3X0.5 5

108

4-94.5RETL

.

L © 4

T
I

W / DR R AR N FE SR ATt AL

z|Controller CoppStCable g TIStage |

GSC-01
GSC-02 (2#4)
SHOT-702 (2#4)
SHOT-302GS (2%#)
SHOT-304GS (4%#)
HIT-M-HIT-S (8%#)
PGC-04 (4%dh)

D G098~G105

(1%)

D15RP-CA
ED1 G108

OSMS-ZF

2] Driver _CoppR§Cable g

H PR RR

ED] G020~G021

MINI-CA-SG
EDJ G108

¥ O0SMS40-5ZF (0.35A/48) [3SG-5MA. SG-55MAD A3 i

E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

3323

FHTH

RanEE

WEzFE

BF

e

R / W
NG

Fitel
AcfARR

HEEHRTI
LB

[185mm

[J100mm
[J120mm
HE



